New
Mechanically Jointed Rodless Cylinders

Basic short type (Rubber bumper)

series IY3A

INEW |

Bore sizes
020, 032, 50 added

Basic standard type (Air cushion)

Series MIY3B

 Bore sizes &
220, 32, 350 added

Slide bearing guide type (Air cushlon)

Series MTY3M

Series Variations Y are new additions

i

Long stroke

short -XB11
L type o * o ’A( o * o o o o Shock Absorber
Centralized Soft Type N P.1
Basic  piping -XB22
MY3B standard O )‘( O j‘( O * O %) O O O Helical insert threads
type  Standard -X168
ide - y = 7
MY3M bearing O L+ L+ {+ o 0 0 Copper Free P.25
guide type ppzo_

Note) Except the MY3A

Shock Absorber Soft Type Series RJ
Installed Cylinder (-XB22 spec.) added

® Soft stopping enabled at stroke end. _”—
® Two types of shock absorbers are selectable according to operating environment. —j .

CAT.ES20-165C




Mechanically Jointed Rodless Cylinders Series M Y3A/ 3B

Construction: 320, 332, 350

2

Component Parts

No. Description Material Note No. Description Material Note
1 Cylinder tube Aluminum alloy Hard anodized 17 |Inner wiper Special resin
2 Head cover Aluminum alloy Hard anodized 18 | Hexagon socket head cap screw| Chrome molybdenum steel | Nickel plated
3 Slide table Aluminum alloy Electroless nickel plated 19 |Hexagon socket head cap screw| Chrome molybdenum steel | Nickel plated
4 Piston yoke Stainless steel 20 |Hexagon socket head set screw| Chrome molybdenum steel | Nickel plated
5 Piston Polyamide 21 |Hexagon socket head plug Carbon steel Nickel plated
6 Wear ring Polyacetal 23 |Magnet —
7 Belt clamp Polybutylene terephthalate 24 |Seal magnet Rubber magnet
8 Belt separator Polyacetal 25 |Cushion needle Rolled steel Nickel plated
11 Stopper Carbon steel Nickel plated
12 Cushion boss Aluminum alloy Chromated
13 Bearing Polyacetal
Replacement Parts/Seal
No. Description Material Qty. MY3B20 MY3B32 MY3B50
9 Seal belt Polyamide 1 MY3B20-16A-Stroke] MY3B32-16A-Stroke] MY3B50-16A-[Stroke]
10 | Dust seal band Stainless steel 1 MY 3B20-16B-[Stroke] MY3B32-16B-[Stroke] MY 3B50-16B-[Stroke]
14 Tube gasket NBR 2 RMB-20 RMB-32 RMB-50
15 Piston seal NBR 2 RMY-20 RMY-32 RMY-50
16 Scraper Polyamide 2 MYA20-15-AC594 MYA32-15-AC595 MYA50-15-AC596
22 O-ring NBR 4 C-5 C-6 C-125
26 O-ring NBR 2 04 x01.8x01.1 04 x21.8x021.1 07.15x23.75x 01.7
27 Cushion seal NBR 2 MCS-3 MCS-5 RCS-8
* When (9 and (0 are shipped as single units, a grease pack is included (10 g per 1000 strokes).
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
« For instructions on how to replace replacement parts/seals, refer to the operation manual.
z 19

4

SvVC



Series MY3A/3B

short Type: 316, 020, 25, 032, 340, 950, 363

MY3A [Bore size|—| Stroke |

NG

)

\~

# Refer to “Specific Product Precautions” on front matter 7 for mounting.

2xP
(Hexagon socket
head plug)
(LL) L H
PA 4 x MM depth M 4 x @B counterbore NH 2x2xP
= oLD through hole (Hexagon socket
s head plug)
| © e I Y
f — ! > @ 5
oo - B - et FE B Hel-—= 3
i ° @® @ - i OV
) ® | @to ¢ 000 ¢
PG Q + Stroke HG
> TPC . Floating bracket mounting thread Port variation
x @ T counter
bore depth E (2Qx JJ counterbore, thread depth from bottom KK) + Head cover piping connection can be
o 2xP freely selected to best suit different
7o piping conditions.
e E—— Y/ } =)
‘ " e — — O
1@ i D1 —
= [ ]
© ©
| S
A (@] [©]
Z + Stroke @ n
Slide table operating direction
(mm)
Model A B C E G H HG JJ KK LD LL LW M MM N
MY3A16 55 6 18 2 9.5 27 5 M4 x 0.7 5 65 35 | 225 41 6 M4 x 0.7 13.5
MY3A20 64 7.5 | 22 2 9.5 32 6.5 M4 x 0.7 8.5 80 45 | 24 51 6 M4 x 0.7 155
MY3A25 75 95 | 25 2 14 37 7.4 M5 x 0.8 7.5 95 55 | 275 61 8 M5 x 0.8 20
MY3A32 96.5 | 11 32.5 2 14 45 9 M5 x 0.8 75 | 128 6.6 | 32.5 76 8 M5 x 0.8 22.5
MY3A40 | 120 14 38 2 18 54 12 M6 x 1 12 160 8.6 | 40 90 12 M6 x 1 27
MY3A50 | 137 14 49 3 16 67 14 M6 x 1 15.5 190 9 42 112 12 M6 x 1 27
MY3A63 | 160 17 60 3 20.5 84 16.5 M8 x 1.25 22 220 | 11 50 134 16 M8 x 1.25 31
Model NE NG NH | NW P PA PB PC PD PG Q Qw T TT uu | Yw 4
MY3A16 | 225 8 17.2 43 M5 x 0.8 44 26 32.5 4 102 19 7 6.5 30 42 110
MY3A20 | 275 10 20.8 53 M5 x 0.8 54 30 40 5) 45 | 119 23 8 9 35 52 | 128
MY3A25 | 32 10 24 65 |Rc, NPT, G1/8| 64 40 475| 6 138 30 10 9 47 62 | 150
MY3A32 | 39 14 31 79 |Rc, NPT, G1/8| 92 44 64 6 179 33 10 13.5 52 77 | 193
MY3A40 | 46 15 37 94 |Rc, NPT, G1/4| 112 60 80 7.5 8.5 | 223 40 14 14 66 92 240
MY3A50 | 58 25 47.5 116 |Rc, NPT, G3/8| 142 66 95 8.5 8.5 | 257 44 15 21 74 114 274
MY3A63 | 70 29 58 139 |Rc, NPT, G3/8| 162 84 | 110 10 300 64 16 20 99 136 | 320
20

ZSNC




Mechanically Jointed Rodless Cylinders Series M Y3A/ 3B

standard Type: @16, 020, 925, 832, 40, 50, 363

# Refer to “Specific Product Precautions” on front matter 7 for mounting.

MY3B |Bore size|—| Stroke |

”

.
%L@

T @ | 2P

(Hexagon socket

head plug)
4 x 9B counterbore depth C
(LL) L Cushion needle oLD through hole H 2% 2x P
PA 4x MM depth M = PE_ NH | XX
g (Hexagon socket
N head plug)
o @] o & i
~ o0 , - - = 2
e o = u.io ; 2
| Oy
[ °o & | ®lo d
[
PG Q + Stroke =

Floating bracket mounting thread

(2 x JJ counterbore, thread Port variation
depth from bottom KK) * Head cover piping connection can be
2 x oT counter PC a freely selected to best suit different
bore depth E \ o oy P piping conditions.
(] I i ] L —
w
)9 D ]
e © ©
1
5 e  —— 10
A
Z + Stroke ' @ E’ -
Slide table operating direction
(mm)

Model A B C E G H HG JJ KK L LD LL LW M MM N
MY3B16 | 61 6 18 2 9.5 27 5 M4 x 0.7 5 65 35 | 285 41 6 M4 x 0.7 13.5
MY3B20 | 74 75 | 22 2 9.5 32 6.5 | M4x0.7 8.5 80 45 | 34 51 6 M4x0.7 | 15.5
MY3B25 | 89 95 | 25 2 14 37 74 | M5x0.8 7.5 95 55 | 415 61 8 M5 x 0.8 20
MY3B32 | 112.5 | 11 325 2 14 45 9 M5 x 0.8 75 | 128 6.6 | 48.5 76 8 M5x0.8 | 22.5
MY3B40 | 138 14 38 2 18 54 12 M6 x 1 12 160 8.6 | 58 90 12 M6 x 1 27
MY3B50 | 155 14 49 3 16 67 14 M6 x 1 15.5 190 9 60 112 12 M6 x 1 27
MY3B63 | 178 17 60 3 20.5 84 16.5 | M8x1.25 | 22 220 11 68 134 16 M8 x 1.25 | 31

Model NE | NG | NH | NW P PA | PB | PC | PD | PE | PF | PG Q |QW | T TT | UU | YW Z

MY3B16 | 22.5 8 | 17.2 43 | M5x0.8 44 | 26 325| 4 97| 85| 4 114 19 7 6.5 | 30 42 | 122
MY3B20 | 27.5 | 10 | 20.8 53 | M5x0.8 54 | 30 40 5 11.2 | 10 45 | 139 | 23 8 9 35 52 | 148
MY3B25 | 32 10 | 24 65 |Rc,NPT,G1/8| 64 | 40 475| 6 145|122 | 6 166 | 30 10 9 47 62 | 178
MY3B32 | 39 14 | 31 79 |Rc,NPT,G1/8| 92 | 44 64 6 16 15 7 211 33 10 | 135 | 52 77 | 225
MY3B40 | 46 15 | 37 94 |Rc,NPT,G1/4| 112 | 60 80 751195 | 165 | 85| 259 | 40 14 | 14 66 92 | 276
MY3B50 | 58 25 | 475 | 116 |Rc NPT,G3/8| 142 | 66 95 8.5 | 20.5 | 20 85 | 293 | 44 15 | 21 74 114 | 310
MY3B63 | 70 29 | 58 139 |Rc,NPT,G3/8| 162 | 84 | 110 10 235 | 275 | 10 336 | 64 16 | 20 99 136 | 356

21

O
:



Series MY3A/3B

standard Type: @16, 020, 925, 832, 40, 50, 363

Stroke adjustment unit
Low load shock absorber + Adjustment bolt
MY3B |Bore size |—| Stroke | L

(Shock absorber stroke) TS S EY
ES_ _.SD EC

— / =
] T @ - ]
+— / / — —— =

|

—

/) U

Stroke adjustment unit/ TR h

(mm)

Applicable cylinder| ES EC EY FC h S SD TS TR TU W  [Shock absorber model
MY3B16 141 21.5 26.5 34.5 2.4 40.8 25.8 6 0.9 25 62 RB0806
MY3B20 141 26.5 31.5 41 2.4 40.8 22.3 6 4.4 21.5 72 RB0806
MY3B25 20.1 29.8 36.5 51.5 3.6 46.7 25.2 7 1.4 28.5 90 RB1007
MY3B32 20.1 37.5 445 60 3.6 46.7 20.7 7 5.9 24 105 RB1007
MY3B40 30.1 45 53.5 72.5 5 67.3 36.3 12 0.9 39 128 RB1412
MY3B50 30.1 56.5 66.5 88 5 67.3 34.3 12 2.9 37 150 RB1412
MY3B63 36.1 70.5 83.5 108 6 73.2 36.2 15 0.9 43 178 RB2015

Note) When the stroke adjustment unit is used, the fitting type, which can be connected with the port on the body front and the back, will be limited. Refer to front
matter 6 for details.

Heavy-loaded shock absorber + Adjustment bolt
MY3B | Bore size |—|Stroke | H

(Shock absorber stroke) TS S
ES_ _.SD

@\Fgﬂ

©

—

|
BN
NU

19
|
T
& |
18
w
FC
@

/) U

Stroke adjustment unit/ TR h

(mm)

Applicable cylinder| ES EC EY FC h S SD TS TR TU W  [Shock absorber model
MY3B16 141 23 29.5 34.5 24 46.7 31.7 7 0.9 25 62 RB1007
MY3B20 141 27.5 34 41 24 46.7 28.2 7 4.4 21.5 72 RB1007
MY3B25 20.1 31.8 41 52.2 3.6 67.3 45.8 12 14 28.5 90 RB1412
MY3B32 20.1 39.5 49 60.5 3.6 67.3 41.3 12 5.9 24 105 RB1412
MY3B40 30.1 48 60.5 73.5 5 73.2 42.2 15 0.9 39 128 RB2015
MY3B50 30.1 58.5 71 88.5 5 73.2 40.2 15 2.9 37 150 RB2015
MY3B63 36.1 74.5 91 108 6 99 62 25 0.9 43 178 RB2725

Note) When the stroke adjustment unit is used, the fitting type, which can be connected with the port on the body front and the back, will be limited. Refer to front

matter 6 for details.
2 SvC

O



Mechanically Jointed Rodless Cylinders Series M Y3M

Side Support
Side support A
MY-SLIA
| < | L —
} } Qfﬂ 2x0G
i\ e e j E‘ ‘ S
2xgH l [ L
c A -
D B

Side support B
MY-S[ B

| © |

M

k==
A

c A
D B
(mm)
Model Applicable cylinder | A B C D E F G H J
MY-S16 8 | MY3A16-MY3B16 | 53 | 63.6] 15 | 26 | 4.9 3 65| 3.4 | M4x0.7
MY-S208 | MY3A20-MY3B20 | 65 | 77.6] 25 | 38 | 6.4 4 8 45 | M5x0.8
MY-S254 | MY3A25-MY3B25 | 77 | 91 35 | 50 | 8 5 95| 55 | M6x 1
MY3A32-MY3B32 | 97 |115
MY-S324 . d .
S323 MY3A40-MY3B40 | 112 [130 45 | 64 (11.7| 6 11 6.6 | M8 x 1.25
MY3A50-MY3B50 | 138 |160
~ A
MY-S40 5 MY3A63-MY3B63 | 160 |182 55 | 80 |14.8| 8.5 |14 9 M10 x 1.5

Note) A set of side supports consists of a left support and a right support.

Guide for Using Side Support

For long stroke operation, the cylinder tube  Guide for Using MY3A Side Support  Guide for Using MY3B Side Support

may be deflected depending on its own 120 120
weight and the load weight. In such a case,
use a side support in the middle section.
The spacing (¢) of the support must be no 100 100
more than the values shown in the graph on
the right. m
1] 80 MY3A63 (1900) 80 MY3B63 (1800)
[ — 5 5
’ % 2 2
14 g 60 FMY3A50 (1650) % 60 'TMY3B50 (1650)
; EL L : L]
L_]:r_l = MY3A40 \ = \
. 40 (1400) 20 MY3B40 (1300)
: | |
¢ | MY3A32 1250) | MY3B32 1200)
o 1T\ TR
m 20 [MY3A25 _ (1100) "\ 20 [MY3B25(1000) N
A | MY3A20 (1050) "\ \\ \ \ MY3B20(1000) \_ \\\\ \ \\
m 77 m// 0 | MY3A16(1000) é\\ \\ \ 0‘ MY3B16 (900) \\.\ X \
p p ’ 0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000
Support spacing ¢1 (mm) Support spacing ¢1 (mm)
A Ca utlon Note) A side support must be used to keep Note) A side support must be used to keep
M If the cylinder mounting surfaces are not the spacing from exceeding the value the spacing from exceeding the value
) A inside the parentheses. inside the parentheses.
measured accurately, using a side support
may cause poor operation. Therefore, be
sure to level the cylinder tube when
mounting. Also, for long stroke operation
involving vibration and impact, use of a
side support is recommended even if the
spacing value is within the allowable limits
shown in the graph.
@Support brackets are not for mounting; use
them solely for providing support. 23

O
:



Series MY3A/3B

Floating Bracket

Facilitates connection to other guide systems.

Application

Application

Mounting direction (D (to minimize the installation height)

Work piece

—

1

Guide

Series MY3[]

Floating mechanism

7‘—‘

Mounting direction (2) (to minimize the installation width)

’—,/‘ Work piece
- 11 oms

Series MY3[]
Floating mechanism

Bracket Bracket
Mounting Example Mounting Example
G G
D1 Za1 D2 Za»
5 g,
mesem—* 7T WLl ----- —
v i"& 1 o | He—— 7 f___
3 ¢ % ® ¢ NT & 4 @ ® < . ©
— ! — ﬁ \C w %) - - m ﬁ w
% E * 2 > * j d Detailf Za1 § E( Al °* j/ drawIiDnetacilf Za2
rawin 6
k5 T Tietef—— &djugstgblea § R “T il le (Adjugtable
§ s 2 range) g S 4 Zbe range)
3 i o 2 T
> w
X n.i 777777 o r—ﬂﬂrzﬁémh }
R === | < p \ -
< II \I o
§ Detail % 2x2x0LD Detail
5 2x2xoLD drawing of Zb £ drawing of Zb2
= (Adjustable 35 (Adjustable
Qg range) e3 range)
e 3 a
-
MY3L! Floating Bracket Mounting Dimensions (mm)
Model App!icable Common Adjustment range Model App!icable Common Adjustment range
cylinder | G | H JJ L | P |LD|Ea|Eb cylinder | G | H JJ L P |LD| Ea | Eb
MYAJ16|MY3[116| 38 | 20 M4x07 | 45| 10 | 6 1 1 MYAJ40 | MY3[140| 72| 32 | M8x1.25 | 65| 16 | 11 1 1
MYAJ20|MY3[120| 50 | 21 M4x0.7 | 4 10 | 6.5 1 1 MYAJ50 | MY3[150| 90| 36 | M8x1.25 | 6.5 | 16 | 11 1 1
MYAJ25|MY3[125| 55 | 22 M6 x 1 55| 12 | 95 1 1 MYAJ63 |MY3[163| 100 | 40 | M10x1.5 | 9 19 | 14 1 1
MYAJ32|MY3[132| 60 | 22 M6 x 1 55| 12 | 95 1 1
. Applicable Mounting direction (1) e Applicable Mounting direction()
cylinder | A1 B1 Ci D1 F1 K1 Q1 cylinder | A1 B1 Ci D1 F1 K1 Q1
MYAJ16|MY3(16| 29 68 | 34 18 88 | 55 | 10 MYAJ40 | MY3[140| 56 130 65 32 162 9.5 16
MYAJ20| MY3[120| 34 81 40.5 20 102 6 10.5 MYAJ50 | MY3[150| 69 156 78 40 192 9.5 19
MYAJ25|MY3[]25| 38.5 90 | 45 24 112 6.5 11 MYAJ63 | MY3(163| 86 186 93 50 226 | 10 20
MYAJ32| MY3[132| 47 106 | 53 30 128 6.5 11
Model | Applicable Mounting direction @) Model | Applicable Mounting direction@
cylinder | A2 B2 C2 D2 F2 K2 Q2 cylinder | A2 B2 C2 D2 F2 K2 Q2
MYAJ16|MY3(16| 36 58 29 30 68 10 5 MYAJ40| MY3[140 68 114 57 55 130 19 8
MYAJ20| MY3[120| 441 70 35 35 80 10 5 MYAJ50| MY3[150 81 136 68 70 152 20 8
MYAJ25|MY3[125| 46 80 40 40 92 14 6 MYAJ63|MY3[163| 100 166 83 80 185 23 9.5
MYAJ32|MY3[132| 54 96 48 46 108 14 6
Note) Floating brackets are shipped as a set of left and right brackets.
: : Tightening Torque MYAJO (1 set)
Installation of Holding B(?It-s| . for Holding Bolts Unit o | COMPOREN Parts
Slider Pin nglhc:r spring Holding bolt Model |Tightening .~ |Tightening Description Qty.
(piston yoke) torque torque B.racket 2
; MYAJ16| 15 MYAJ40| 5 Pin_ : 2
) W MYAJ20 15 MYAJ50 5 Conlf:al spring washer| 2
3 — 0 MYAJ25| 3 MYAJ63| 13 Holding bolts 2
% L | MYAJ32 3
Packaged parts
24 ZSNC



Series MY3M

Slide bearing guide type
(Air cushion)

016, 925, 040, 063




